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ADJECTIVES TESTS 01

6. Owning a successful online business can bring

(" VKS-DIL LEVEL 01

1. Education plays a/an ---- role in shaping

a person’s future and career prospects.
A) weird B) perilous
C) eminent D) significant

E) trivial

Car owners must have ---- insurance to legally

drive on the roads.
A) abrupt B) compulsory
C) adverse D) impartial

E) gainful

Plastic pollution is becoming increasingly ---- to

the environment.
A) hazardous B) successful
C) remarkable D) peculiar

E) precious

The Great Wall of China is a ---- structure that

stretches over thousands of miles.
A) destructive B) notorious
C) massive D) hostile

E) bizarre

The sudden drop in temperature is an ---- change

showing the onset of winter.
A) accidental B) unusual
C) obligatory D) insignificant

E) evident
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---- rewards.
A) uncommon B) mandatory
C) lucrative D) unimportant

E) objective

. To ensure success, we must allocate our limited

---- resources wisely.
A) void B) sudden
C) temporary D) accidental

E) valuable

Governments need to take ---- action to handle

the climate crisis.
A) urgent B) harmful
C) impartial D) temporary

E) difficult

. The giant panda is a ---- species due to habitat

loss and poaching.
A) common B) needy
C) logical D) vulnerable

E) careful

. The Eiffel Tower is a/an ---- example of the modern

architecture.
A) close B) subtle
C) prominent D) insensitive

E) fearful
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Political stability is essential in regions where
citizens ---- security and economic development.

VERBS TESTS06
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6. The new species of insects ---- unique
characteristics that have never been seen before.

A) hamper B) crave A) repeals B) exhibits
C) settle D) inspect >3 C) predicts D) releases
E) shorten v E) modifies
. With advancements in technology, academic 7. Interactive multimedia tools can ---- in learning
institutions have the opportunity to ---- knowledge new languages.
globally. .
A) remove B) divide
A) disseminate B) implement
) d ! ) imp C) wrap D) conceal
C lif D Itreat
) exemplify ) maltrea E) aid
E) force
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In academic writing, it is crucial to ---- a clear and
coherent argument supported by evidence and
reasoning.

8. lItis essential to ---- potential risks before
launching any new project.

A) generate B) impose
A) omit B) blend C) combine D) identify
C) abolish D) admire E) sustain
E) adopt
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The defendant must ---- evidence to refute the
accusations against them.

9. Solar panels are an excellent way to ---- clean
energy without harming the environment.

A) perceive

C) supply

E) direct

B) resist A) produce

D) expire C) withstand
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B) aspire

D) impair

E) permit

5. Students with dyslexia may have difficulty in ---- 10. Researchers strive to ---- knowledge from various
complex written material. disciplines to solve complex problems.
A) overtaking B) ignoring A) surpass B) harness
C) interfering D) assisting C) remove D) waste
E) grasping E) diminish
DiL EélTlM 14 wewwakindil com
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PHRASAL VERBS TESTS 01
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in ---- her fear of public speaking.
A) leaving out B) handing down
C) getting over

E) taking after

@
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Technological advancements ---- a significant 6. Commuters in big cities often have to ---- long
portion of the recent economic growth. traffic jams during rush hour.
A) keep on B) break down A) look down on B) put up with
C) put off D) account for C) watch out for D) make do with
2z
E) set out V4 E) do away with
3
The quality of education in a country often ---- the 7. We ---- a problem with the project when we
amount of resources allocated to the education discovered a critical error in the code.
system.
A) got off B) took over
A) looks up B) pulls through
. . C) gave away D) raninto
C) depends on D) gives in
E) sent out
E) puts out
2z
Vi
<z
To enhance productivity, the manager ---- 8. In negotiations, it is important to ---- a
a system of performance metrics to evaluate compromise that satisfies all parties involved.
employee performance.
A) break down B) throw away
A) setup B) kept off
C) look for D) divide into
C) used up D) gave up
E) tear apart
E) ruled out
2z
Vi
G
Survivors of natural disasters usually @ 9. To maintain a healthy weight, many nutritionists
---- traumatic experiences. recommend ---- sugar and eating more
vegetables.
A) back up B) draw on g
A) cutting down on B) getting along with
C) handin D) work out ) g )9 & g
C) keeping up with D) putting up with
E) go TGN ) ping up ) putting up
E) making up for
. With practice and determination, anyone succeeds /& 10. Investors must develop strategies to ----

uncertainty in the financial markets and mitigate
risks.

D) sending for A) come across B) give up
C) brush up D) point out
E) deal with
DiL EélTlM wewwakindil com
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Many up-and-coming musicians seek ---- on
social media platforms to catch the attention of
record labels and producers.

A) concern B) recognition
C) accuracy D) flexibility
E) removal

Opposition members have called for a
parliamentary ---- to investigate the alleged

misuse of public funds.
A) association B) deficiency
C) abundance D) inquiry

E) exception

Cognitive psychologists study the process
of knowledge ---- to understand

how learning occurs.
A) obligation B) acquisition
C) distribution D) complexity

E) advance

The company’s ---- to ethical practices helped
enhance its reputation as a responsible leader in

the industry.
A) addiction B) refusal
C) apology D) arrival

E) commitment

The brand has a long-standing ---- for reliability,

which has earned the trust of its customers.
A) epoch B) detection
C) fame D) duration

E) investigation
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The widespread consumption of processed foods
has serious health ----, contributing to the rise in
obesity and related diseases like diabetes and

heart disease.
A) implications B) enroliments
C) assumptions D) incentives

E) observations

The early ---- of cancer significantly increases the

chances of successful treatment and recovery.
A) avoidance B) entity
C) detection D) commencement

E) removal

The ---- of the cultural differences between the
two societies was essential for the successful
negotiation of the business deal.

A) attachment B) ignorance
C) hesitation D) loyalty

E) identification

The safety of the food product will have to
undergo a thorough ---- before being released to
the market.

A) outcome B) evaluation
C) conflict D) refusal
E) similarity

In today’s fast-paced world, constant ---- to

market trends is essential for business success.
A) wealth B) withdrawal
C) supposition D) adjustment

E) conflict
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Despite advancements in pollution control,
coal-fired power plants still emit ---- high levels
of greenhouse gases compared to natural gas
plants.

A) scarcely B) relatively

C) mistakenly D) incidentally

E) fatally

The potential for paracetamol to interact
with other medications necessitates careful
consideration when prescribing it to ----
symptoms in patients with complex medical
histories.

A) deteriorate B) abort

C) launch D) persist

E) relieve

Malnutrition deteriorates the ---- of infectious
diseases because weakened immune systems are
unable to fight off pathogens effectively.

A) severity B) assumption
C) rarity D) devotion
E) healing

. Although forest fires can cause ---- destruction,

they also release nutrients into the soil, which
promote regrowth in certain ecosystems.

A) enthusiastic B) ambiguous

C) extraordinary D) immense

E) susceptible

The cost of bringing a new drug to market is
substantial; however, strategic partnerships and
collaborations between academia and industry
have proven to be effective in ---- financial
barriers.

A) supporting B) mitigating

C) enhancing D) postponing

E) ensuring
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Accurately educating patients about Type 2
diabetes and its management can improve their
---- to treatment and overall health outcomes.

A) association B) adherence

C) dependence D) assumption

E) obstruction

The drastic decline in gorilla populations ---- a
variety of anthropogenic factors, including habitat
loss, poaching, and infectious diseases.

A) stems from B) draws on

C) takes over D) looks into

E) gets away

Although albinism manifests in visible differences
like skin and hair pigmentation, ---- variations
exist in gene expression and protein function
within affected individuals.

A) compulsory B) surmountable

C) promising D) subtle

E) excessive

While moderate coffee consumption offers
potential health benefits, concerns arise
regarding the long-term consequences of
excessive intake, ---- on cardiovascular health.

A) severely B) formerly
C) inconsistently D) notably
E) merely

. Studies suggest that grapes, which are rich

in antioxidants like resveratrol, might ---- their
anti-inflammatory properties to aid in protecting
eyesight from age-related macular degeneration.

A) give off B) counton
C) turn down D) take up
E) look into
97 wewwakindil com
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Obesity is one of the world’s largest health
problems — one that has shifted from being a
problem in rich countries, to one that ---- all
income levels.

A) excludes B) disregards

C) covers D) interrupts

E) admires

Building skills to take on challenges, overcome

obstacles, and persevere after mistakes is ---- to
developing the executive functions of sustained
attention focus and goal-directed behaviors.

A) persistent B) necessary

C) durable D) diminishing

E) redundant

Because of soaring inflation all over the world,
many companies have to shrink a product’s size
while maintaining the same price in order to ----
rising costs.

A) estimate B) evaluate
C) embody D) offset
E) hamper

More than half of all buildings in the United States
are situated in hazardous regions, making them
---- to wildfires, floods, hurricanes, tornadoes, and

earthquakes.
A) dedicated B) indifferent
C) addicted D) prone

E) vigorous

The fall of the Western Roman Empire, marking
the end of ancient Rome and the beginning of
the Middle Ages, ---- because of a combination
of factors, including economic decline, military

decay, and barbarian invasions.
A) took place B) putin
C) fell out D) got by

E) caught on
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Excessive exposure to toxic chemicals in the
workplace ---- damages the lungs of many factory
workers, which causes them to suffer from
chronic respiratory issues.

A) vaguely B) permanently

C) confidentially D) appropriately

E) recklessly

The prevalence of obesity in developed nations
can be ---- due to the widespread availability of
cheap, processed foods high in sugar and fat,
sedentary lifestyles, and socio-economic factors
limiting access to nutritious options.

A) pulled through B) accounted for

C) brought down D) took over

E) turned down

Farmers must conform strictly to organic farming
practices to ensure that crops are ---- grown
without synthetic pesticides or fertilizers,
preserving soil health and biodiversity.

A) relatively B) temporarily

C) emotionally D) indefinitely

E) properly

There are more than 1,000 species of sea spiders
in the wildlife, and such ---- is extraordinary, from
their striking array of color combinations to their
vast size differences.

A) scarcity B) diversity

C) urgency D) efficacy

E) uniformity

While cases of owners passing on COVID-19

to their pets are considered to be of ---- risk to
public health, the scientists say that there is a
“potential risk” that domestic animals could act
as a “reservoir” for coronavirus and reintroduce it

to humans.
A) irrational B) irreversible
C) objective D) hereditary

E) negligible
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